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| What is Grammar?

First Lecture
91§yl

Grammar is defined as the rules that say how
words are combined, arranged and changed to
show different meanings.

teacher, student, question, asked

e.g. 1. The teacher asked the student a question.
e.g. 2. The student asked the teacher a question.

The largest unit of grammar is the sentence.

Sentences :

faalll ueled 2 Lo
Ly Sl pex 2aiS Jods (I (B delgll caupal
- Aaligs Glae sl Lajads

teacher, student, question, asked !
The teacher asked the student a question..1 Jt |

The student asked the teacher a question.2 Jt
lezdl £ 2aUl delsd (0 Bumg 4ST

2 ezl

Obed! e oyl ‘-5'\.” LI o0 Ae goma (oo Byl Aozl

A Sentence is a group of words that expresses
a statement, question, command or
exclamation. A sentence consists of one or
more clauses, and usually has at least one
subject and verb.

Types of Sentences:

1. Statement Sentences

A sentence which gives information. (Declarative)
e.g. He is studying.

We can make statements either affirmative or
negative.

e.g. 1. | have found a mistake already. (affirmative)
e.g. 2. | have not found any mistakes yet.(negative)

2. Question

A sentence which asks for information or makes a
request. (Interrogative)

e.g. Is he studying? Can | go study?

3. Command

A sentence which gives an order or makes a
suggestion. (Imperative)

e.g. Go study. Be careful!

T3 'reed

Baleg . AST ol Busly 5yle cpo ally uaa.i."giﬁi «Jladly

Jady J3Y e usly Jeld aad 0985 L

(ke gre3) - aloglan Jaad @l Ao

He is studying: Yt |

A ol alem Lol Sbled) Jasms of LiSey |

(35L=) | have found a mistake already .1Jts |
(dw) | have not found any mistakes yet.2 jts !
Apalbinl ez -2 |

(Asoleain!) Ll of ciloglae clio callas J1 Aoz |

Is he studying? Can I go study?: St |

)-A‘Y‘-3 :

(Y1 Aio) Lo 81 o5 of ol s &1 Alaze) |
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Go study. Be careful! St

4. Exclamation

A sentence which is used to express the —xadll-4
speaker’s feeling or attitude. \aBsll 5 KL padh e pearl i B dlen
e.g: - s
What a lovely day! S
Excellent! What a lovely day!

Excellent!
Exercise -

oy

Identify the type of each of the following sentences. Al doll o0 S g5t g

a. statement b. question c. command d. exclamation cxaddl -y ¥z Awldiuwlo Al
1. How often do you come here? b. question-1
2. How interesting this article is! d. exclamation-2

3. Hurry up before the train’s departure!
4. How interesting is this article?
5. This article is very interesting.

c. command-3
b. question -4

a. statement-5

Simple, Compound and Complex Sentences:

; dudally 4SSy dacudl Joztl
i 1. Simple: The man is here. ° 9 245ty dos ’

| 2. Compound: The man is here, and he wants to - The man is here :aacuy-1

| seeyou. ) The man is here, and he wants to see you. : 4.54-2

i 3. Complex: The man that wants to see you is

' here. : Complex: The man that wants to see you is : §.ixs-3
here.

i We will discuss compound and complex : sl saas Liseatp S AL eec g el Lifc g

. sentences in detail in the coming lectures. : el & o Lot |
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Verbs

The verb is the central unit (nucleus) of an
English sentence.

Verbs can refer to actions,

e.g. run, walk and talk, or states,

e.g. want, have and be.

Main vs. Helping Verbs:

Each English sentence has a main verb.
e.g. Mohammed walked home.

e.g. Khaled is happy.

Some sentences also require one or more
helping verbs (auxiliary verbs).

He is coming to the meeting.

He could come here soon.

Helping verbs (auxiliaries) include:

1. be (is, am, are, was, were)

2. have, has, had

3. do, does, did

4. Modal auxiliaries:

can, could, shall, should, will, would, may,
might.. etc.

These verbs (with the exception of modals) can
also function as main verbs.
e.g. He is here.

T3 'reed

Jlas¥

giles] Alex (3135) 3S,L0 Bumgll sa Jasll
Jlesl J) 43 0 oSer Jlas¥l

run, walk and talk, or states: Jle

want, have and be : Jtia

Baelud! Jlad¥ly deus Il Jlasyl
- oty I Lod Al e S
Mohammed walked home. : Jis

Khaled is happy :Jis

Bueludl JL’.é‘b’l (,ojSiji dly et s cdhais LS
J(Bueluw Jl.aéi)
He is coming to the meeting.

He could come here soon.

t b Lo (Ao g i) Bucluwe JLadl) Joidy
(is, am, are, was, were) (9 &)f-1

. have, has, had -2

do, does, did .-3

: Bucluw Jladi-4

can, could, shall, should, will, would, may, might.. etc.

(A gpid| JLadtl clitinly) JLadYl sia Jead o Sas LeS

sy J1 JLas¥S

. Heis here: Y
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Exercise

Identify whether the underlined verb is the main
verb or the helping verb of each sentence below.
a. main verb b. helping verb
1. Students like fast food.

2. He has enough money for the trip.
3. Khaled does not want to go to school today.
4. He is helping me wash the dishes.

5. He will arrive shortly.

-

S

@iyl Jadll Jas dizs o3| Jadll o 13) Lo dgus
LLsT ezl S g weluw Jas of

elina Ja (<) gty i (1)

a. main verb — 1

a. main verb -2

b. helping verb -3

a. main verb -4

b. helping verb -5

Transitivity:

Verbs are divided into two groups based on
transitivity:

1. Intransitive verbs are verbs that require no
objects.

e.g. Birds fly. The man spoke.

2. Transitive Verbs are verbs that require objects.

This group can be further divided into:
A. Monotransitive verbs

are verbs that require only one object.
e.g. Khaled broke the window.

B. Ditransitive verbs are verbs that require two

objects.
e.g. Saleh gave Majid a pen.

T3 'reed

tgosd|

Yl sas JI Tslisl s gama J) emiiSy
(Intransitive verbs)desd!  Jlas¥ -1

L Jgmie gy llais ¥ A JlasY)
Birds fly. The man spoke JM

( Transitive Verbs) dasig! |lsY] -2

4 Jgmia 3529 llas A Jlas¥

1] IS Lo gazeell 830 @i (S

: ( Monotransitive ) Jlas] v
i sy @ Jyaia a5 31 Jlai¥
Khaled broke the ;Arindow JM

:( Ditransitive ) Jls| v
2 5 3 ¥l
Saleh gave Mapd apen: JM
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Exercise oyl

Decide whether the underlined verbs are: s das Lezs Q) Jlad¥ ol 13) Lo st ¢

a. intransitive b. monotransitive c. ditransitive ditransitive-z Monotransitive - intransitive -
1. The student needs a pen. b. monotransitive -1
2. Ali told his friend a joke. c. ditransitive .2
3. Students study. a. intransitive-3
4. Students study books. b. monotransitive-4
Note: Some verbs can be either intransitive or

transitive. Agaia o) da Y La) Juad) g 0585 o) Sy ABADa

Direct vs. Indirect Objects:
As we saw in the previous section, ditransitive
verbs take two objects.

Fydle pd o Joadeg .yl & Jonde
ditransitive a8l ) ¢ 3sLJI oW L, LS

' . 20 2 >l
One of these objects is called a directs object and . 2 Jpmio ¢

the other one is called an indirect object. ' )jblfﬁﬁ).’mj il L"A‘»j
The indirect object comes first followed by the Aoledl 4 o5 Vsl piba il 4 Janaell b
direct object in this example: j He gave me a book : L
e.g. He gave me a book. '

The indirect object is typically personal as in “me” " 69 J&l o s (A O Bals yobe gl 4 Jomdal

in the previous example, and “the man” in the : JWI ol 2" the man” ¢ gLl Jil 3" me

following example: He asked the man a question.

He asked the man a question.

dines $T ¢ s3pmedl g b Lo 1S pilw pg)l @ Jsaid]
." fOI'" 51 " tO"

The indirect object is often equivalent to a
He gave a book to me : Jlw

prepositional phrase with “to” or “for”.
e.g. He gave a book to me. He bought a gift for his son.

He bought a gift for his son.

T3 'reed http://kfuforums.Rfu.edu.sa



Lecture (?)
Aol § ool

What is a phrase?

A phrase is defined as two or more words that
function together as a group.

e.g. The old man walked down the street.
There are a number of phrase types in English

- including:
i noun phrases,

adjective phrases,

i adverbial phrases
i and prepositional phrases.

. Each phrase has a head and one or more modifiers.

verb phrases,

¢ ilall o e
Lae Jand ) LS (e ST 1 pialS Ll ) CaTjes
RECPPER

g R Gl da ) s Jie

elly L Ley 3l ARl 6 Jaall o) 551 e 220 Sl
Lan¥) Jaal)

¢ Agladl) Janll g

Ataill Jaall

ol daa s &8RN deall

Sl e ST g aal g+ (o) anl ) Lerdlaa JS

Alexy o 8§ Lgana gl ¢ Alaadl 8 At ) elan) 381 5 LS e gane o 3 le o (Shaasal) ) @ La pua gill
Q‘}JY‘DM ud;.)\_mé\.l\ﬁ c“.a;.“.\ual;.“édn‘jﬂn ‘;’Maﬁ)})‘aww} GMAA]\ Jmhcuaa_\jdédajjkdi)ﬂ
(Al 5 yumlall 8 Led (5 il s )) Leglas Alaall sae | sal) (oS ) iy,

DALl Aaadl 8 JEd) dos e
The old man walked down the street.
« head ) ) 25 (mMan ) 4lS

) Gash g luaai ST 5 Bual o gede b maaich (S (Ja gl ) das sa s 1as gl s o seda e J

A noun phrase (often abbreviated to NP) is a

- convenient term for any of the following:

' 1. ANoun

| e.g. Ahmed, students

| 2. A Nominal Group

- .. a blue pen, the students

- Each nominal group has a head and one or more
- modifiers.

. Modifiers add to, change or limit the meaning of
. the head in a phrase. The head is

- the word that determines the type of the phrase.
' For example, the word “pen” is a noun that can
refer to any kind of pens. When we modify it as
| in the previous example “a blue pen”, we limit
the noun so that it can only refer to a specific

- kind of pens.

' Some other examples: Ahmed’s desk, a book

T3 'reed

. modifiers (old ) + (The) &l

) (NP) dpa)l alaal |
AL Caulie mlhias s (NP) (e Lo Llle dpanl) dlaall |

PR TR

Lt 1]

Ol creal S s e

LawY) Ao sendly 2 |

A?\M\ ‘é‘)j ?E JEa) d;\.h.u UJ;:

ST g aa) g aasa s i) and Lo dand Ao sane S

o otV anl) ima aa gl il Giliad Cilaasdll |
cAleadl 038 & 53 2aad Al AalSH ga o )l anYl 3 Ll
a0 (Sar M) ) g Al AL (6 (JB s e
A" Gl JE) 8 LS adaes Laie 28Y) (e g 55 sl |
g é!ﬁéﬂow&aéaﬂ‘oﬂﬁws"@ﬂ‘ :
LY (e (ra

Ul ¢ QU ¢ A cdaal a1 AY) ALY (o |

http://kfuforums.Rfu.edu.sa

1
i
i
i
i
i
i
i
i
i
i
i
i
i

i
i
i
i
i
i
i
i
i
i
i
i
i
i

i



8

N

A

3--APronoun
A pronoun is a type of “pro-forms” which are

" defined as forms used instead of other forms.

' Instead of using the nominal group “the old man”
| we can use the pronoun “he”.

Pronouns include:

! a. Personal Pronouns:

' Subject Pronouns: 1, you, he, she, it, we, they
i Object Pronouns: me, you, her, him, it, us, them
Possessive Pronouns: mine, yours, hers, his, its,

ours, theirs
The Noun Phrase (NP)

. b. Reflexive Pronouns: myself, yourself, himself,
| itself

c. Indefinite Pronouns: everyone, someone,

' something

‘4. APronominal Group

e.g. we all, everyone in our class
In a pronominal group, a pronoun is the head. The

pronouns “we” and “everyone” in the previous examples

are the heads of the pronominal groups.

e T 1 R — — —— — —— — —— — ——————————————————————1

pasall

n 13555 i ek i 3 TSI 0 IS0

Laud de gana alasiul (e Yoy Lgardiins of oSay 5,40 ja

‘")A" " -“‘d_‘_}e:-w .OTOSA-J"QMAJ%J" !

idediiy flaall |

Arad il jilacall ||
I, you, he, she, it, we, they ( Jeldl ) jilazll * |

me, you, her, him, it, us, them (4 Jsidl ) ylezll *

mine, yours, hers, his, its : 4SLdl oz * !
Ay yilazall - @

myself, yourself, himself, itself |

5aaae pall gloll _p |
everyone, someone, something |

s cladaall o ST gl AalS Lgal) Adlidas jilaa
m&wﬂ\jsmuujdw\wé:
o el "ot jlaalls | Ayl WS sh ganal s
. Aleal) b At ) LI Laa 2L ALY

Exercise
Identify the type of the underlined NP.

a. noun b. nominal group c. pronoun

d. pronominal group

1. The children went to bed late.

2. | made this cake myself.

3. Ahmed owns an expensive car.

4. Khaled bought a book.

5. The book is his.

6. Someone in our office forgot to lock the
door.

G

p i Lgiad AN Lac) Jand) £ g 23a

b. nominal group /1

C. pronoun/2

b. nominal group/3

a. noun/4

. pronoun/5

d. pronominal group/6

T3 'reed
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Nouns
Nouns can be divided to:

1. Proper Nouns: e.g. Ahmed, Al-Ahsa
A proper noun is the name of someone or
something that is usually imagined to be
unique.

2. Common Nouns: e.g. friend, desk, bird, air
i A common noun is a name given either to an

example of a class or to the class as a whole.

. “Friend” refers to one example of a class in the
- following sentence:
' e.g. 1. Ahmed is a good friend.

i “Friend” refers to the class as a whole in the
. following sentence:

slans!
ol elan) i (e
elaa¥) caaal Jia o aladl) Lald plead 1

OsSiLesale s Al ¢ Lo g o s add ol g alall aul
83y Lginnlay

O ¢ aatld L Aalaly () 65 Lgaan Lo )i 13) 3alally iny ) |

(0B e il

;\}@.“ c)}#\ (il ‘&MJLLB: QLAM‘Z

S (Uanadi) Lima 48 (0 Jhs e (3l aul Al i)
(o) JSS

& ((aradi) dma 8 e Jha ) s "Gra”
Al Alaal)

A Bava sa el 1 QB Qo e
el 3 ((aren ) JSS &8 o YAl "G

Identify whether the underlined noun is:
a. a common noun (example of a class)
b. a common noun (generic)

C. a proper noun

1. Mohammed gave me a pen.

2. A pen is an instrument used for writing.
3. Khaled’s car is new.

4. Khaled has a new car.

5. Fruit is good for you.

A . -4l
' e.g. 2. Afriend is som we like and know . o

lsvg" end is somebody we like and kno a5 Gl 2 JAA e e
; 1 ) ) ) Sl 48 g2d
| “Friend” in example 2 is called a generic noun. -
Exercise Croad

s b Lt ) pland) CulS 1) Le agaas
(uagmﬂ)?lshu\-\
(peens ) ale Land

() s o ¢

a. a common noun (example of a class) /1
b. a common noun (generic) /2

a. a common noun (example of a class)/3
c. a proper noun/4

b. a common noun (generic)/5

T3 'reed
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Common nouns are usually found in nominal
groups to help the speaker say which particular
example of a class he has in mind.

Eianiall baclisal dpan) Cile gane L Bale a5 dalal) clanl)
AR ] (Ame 4 (e JUe ) J B e

plrall 0okt COUall 1 Jhe

e.g. 1. The students were waiting for the sim o id) e 2 Jlie

teacher. _ (s A 5 s Akl s3a Jant (Sa sale Aalall slandyl
e.g. 2. The teacher’s desk is new. uald anl ol and G sSE G Glisy Jies
Proper nouns will not normally be modified this ald L ale aud g alga 3 Juaatll )
way. In other words, modification differs Js¥) Qi) & Ml el the 4dl)
between a common noun and a proper noun. (S Qi) 8 Sl aledll dilia) +

Proper and common nouns (as well as pronouns)

e.g. L. Light travels faster than sound. (mass noun) - (333 & aul) Casual mwgyiﬁ? DS
e.g. 2. There are two lights by his desk. (count noun) (35 ) Aas e g elia 2 Jle

T3 'reed http://kfuforums.Rfu.edu.sa

can refer to something animate or inanimate. () 5 (Silasall GlXS 5) Adlal) 5 dualall slans) o (S
a. Animate b (ﬂﬁ)? °s~:
. - ( sl Pruvys
At s ol o enr il o w4 L
b. Inanimate Ostbll G c2eal e
. . . ey -0
Inanimate nouns refer to a place, thing or an idea. 58 5l snd 5 e L) el loleal elaud
.e.g. Al-Ahsa, desk, air, freedom 2 m g celisellly cotiSarcalun il e
Ao
Count vs. Mass Nouns ) ‘
Nouns can either be countable (count nouns) or Bagira sl plawd) g 83 ganall slacd)
uncountable (mass nouns). ) ) . )
Count nouns such as “friend” and “man” can be 2 51 (Basine slaul) B2 s3ae sland] fj O Sa
pre::egled b’}’/ “0 n(i” an(’l, may have a plural form such dios o s s ,,;Ti?ﬁ; M\) :i;’j;
as frlend§ and “men” which can be preceded by a PERE @'L@ 5% o ass Maal 4"
number higher than one, e.g. “two friends” and “ten i canl s e ) e s o (Sas sl 5 "Jla "
men”. S sde! 5 G
Nouns
Mass nouns such as “bread” and “milk” cannot be " Al Jie 3 sama il elen) Guew o (S Y
preceded by “one” and do not have a plural form. o daaa L g Maal) 51 Meadali
Some nouns can be used as both count and mass ¢ (Basana cland ) S a8 o (K elansl) any
nouns according to the speaker’s meaning. plSSall nad g ¢ ol g 22 (o (Bas30a p& sland )
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| Collective Nouns

- A collective noun is a singular word used to refer ) . - delaall slawd
' to a group. A sane M) 5D o203 53 e AalS olaall oY
- e.g. family, team, public _ 11)@\ “z:y‘ ‘,dﬂﬁ.: - idb‘;
- A collective noun can be followed by (s 2a) il Jod sty Of (s olan o

(are i) duss o) aan Jad
¢(its) 2sall 4,8ke JS& pa (381 55 o8
(their) s aan

. asingular verb (e.g. is)

- or aplural verb (e.g. are).

- It may be associated with a singular possessive
- form (its),

. or aplural one (their).

~e.g. 1. Our team is the best. i) g il 1 Jla
' Out team are the best. i) 3l 25 A&
- e.g. 2. Ahmed’s family moved to its new home. Aall aila g ) deaf dlile il 2 : Jla
. Ahmed’s family moved to their aall agila g ) deal Alile i)
. new home.

' Note: It is reasonable to be consistent when using Lol sl Yo 45 50 (555 of Jsbnall (o Al
i collective nouns as either singular or plural. In _ B R Rt

L cen ) (m S G ) kg (e Yl

. American English, they are frequently singular, il 1 iy a1 8 pend Ay WIE

- while they are more frequently plural in British
- English.

Exercise I il
Decide whether the following NPs can be
followed by:

a. a singular verb b. a plural verb c. both are
possible

1. Ahmed’s young brother

2. his family

3. juice

4. the company

5. men

DO Al e laad) plead) gt o OSay La 2aa
Laadls (Saa — an Jab w35k Jad |

a. asingular verb /1

c. both are possible/2

a. a singular verb/3

c. both are possible/4

b. a plural verb /5

T3 'reed http://kfuforums.Rfu.edu.sa
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Lecture (5 )
S § polowll

i Modifiers

| groups:

. In our previous overview of phrases, we

i more modifiers. Modifiers can be divided into two

s YAl

" mentioned that each phrase has a head and one or el Sl 9

ST sl sy ¢ (ot ) L A IS 0l LS
RRGE KX PON| U

D O sane () auill O (S ilaasall

1. Pre-modifiers are modifiers that come before

' the head. il Y Jid 6 = (Pre-modifiers) -1
- 2. Post-modifiers are modifiers that come after the ; el
' head 2y A ) s = (Post-modifiers ) -2
i ' Alaall A o ) sy
a good friend
my school friends
the headmaster of the school
the headmaster’s desk
several students
we all
everyone in our class
T3 'reed http://kfuforums.kfu.edu.sa
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Take a look at the following noun phrases (NPs).

-When the head is a noun, modifiers usually
precede it. Phrases like “of the school” follow it.

-When the head is a pronoun, modifiers normally
follow it.

Pre-modifiers in the previous examples include
the following main classes of words:

1. Adjectives (e.g. good)
2. Nouns which modify other nouns (e.g. school)

- 3. Determiners (e.g. a, the, my)

((NPS) aullall Fan) Jasl) e 5 s il

Lo sale claanall ¢ Lol st Sl ans¥) (580 Ladie -
“of the Jie <l je aladind 5, ash I ansY) Gousi
Ay a5 school”

&”EJ\L Glaasall ¢ jraa ‘;m:\:\)n (';.u\?“ OsS Ladie -
Al

s A8l ALY 3 (i Sl ansY) Gani S ilaaaall )

A 1) LIS i |

(good) Jie claall-1
( school Jie) s il eland 2oyl clan)-2
(a, the, my) Jic @laasa -3

Exercise

In the following phrases, decide which of the
underlined words is:

. the head b. a post-modifier c. a pre-modifier
. a big store

. the store manager

. the leader of the group

. the group leader

. someone in my office

u b W N = O

D Al

sha Lgiad Al clalSl) (e gl ass o Al @l jlal) b
a. the head b. a post-madifier c. a pre-modifier

:ablay)

a. the head -1

c. a pre-modifier -2
b. a post-modifier -3
c. a pre-modifier .4
a. the head .5

T3 'reed
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Determiners

Determiners are words which specify the range of
reference of a noun by making it definite (the book),
indefinite (a book) or by indicating quantity (many
books).

Determiners can be either identifiers or quantifiers.

1. Identifiers tell us either definitely or indefinitely
which noun the speaker means. They include:

a. Articles:
a/an (indefinite articles),
the (definite article)

b. Demonstratives: this, that, these, those

c. Possessive Forms of Personal Pronouns: my, your,
his, her, its, our, their

2. Quantifiers tell us either definitely or indefinitely
the guantity of the noun. They include:

a. Numerals:
one, two, three... (cardinal numerals);
first, second, third... (ordinal numerals)

b. Words like:
much, many, each, every, a few, little, all, several,
plenty... etc.

alany o) g g8 (33 an3 3 LS L alaasadl)
BB S () M S e e (Ul e
(S (e aall) dpes

leca o Cay el ol claaadl o & o oKa

Aing 5 anl) S ) iy ety U s gyl <l gl
;‘?_\gud&gﬁ}.&M\

R PONE|

‘( "EJS.'!" ﬁf‘)ﬂéa‘}ﬁi)an/a

(I*AJ:.A Q\JJ‘) The

: this, that, these, those : s iyl @l sal-co

Apaddll placall 48l QIS -
my, your, his, her, its, our, their

b e G o2 g - 4paSll il ol -2

¢ (Y1 28 Y1) | one, two, three
(x8) ... first, second, third

sJie Gl o
much, many, each, every, a few, little, all,
several, plenty... etc.

Exercise

Identify the type of the underlined determiner in the
following sentences:

a. article b. demonstrative c. possessive d. quantifier
1. This exercise is easy.

2. Their friend is here.

3. The visitor came early.

4. Many people watch the show every week.

5. These sentences are interesting.

Al Jaald) ‘_,’Jjn; Leiad dej\ Caladaal) £ 9 sl

b. demonstrative -1
c. possessive-2

a. article-3

d. quantifier-4

b. demonstrative-5

T3 'reed
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Person, Number and Gender
Person

Nouns can be personal (humans) or non-personal
(animals and inanimate objects).

Note: Personal nouns can only be animate (because

they only refer to humans). Non-personal nouns can be

either animate (when they refer to animals) or

inanimate (when they refer to inanimate objects).

i We can also use the term “person” in a different way.

Traditionally, personal pronouns differentiate between

the person speaking (first person),
| the person spoken to (second person)
' and the people or things spoken about (third person).

' 1% person pronouns: 1, we
| 2" person pronouns: you

3" person pronouns: he, she, it, they

T3 'reed
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Singular (number) or plural (number) affects the form of

almost all count nouns, pronouns and demonstratives. e JSG e i aeall dapay (220) ) 2 kel dapay (22e)
B}.&‘;!\ G«LAMiJ ‘)SLA.\A.“J BJJJM]‘ GLAMSI‘

Here are some examples:

Count Nouns: student (singular); students (plural) ALY Gy e
Mass nouns are considered to be singular. (eall) @3l ¢(2iall dapay) Gllhal) ;83 gaxall slayl
e.g. water, rice (singular) L83 )3 83 gxa i)l elawd) iiad

(2oaa)) Aanay) 5 Y 5 colall Jia
Pronouns: I, you, he, she, it (singular);

we, you, they (plural) ¢(204)) 1, you, he, she, it : sleal
Demonstratives: this, that (singular); ) (¢“+“) BigL el they‘
these, those (plural) §(2,4al) this, that : 3L slend
(a=al)) these, those
Whether the subject is 1% person, 2™ person or 3" person; and 2 gl - Loasdll o Jeld) 13a (S 13 Le
whether it is singular or plural can affect the form taken by the IS5 le s O (S g ) 208 OIS 615 €3t
verb. el
e.g. Jia
He walks home everyday. (3" person singular subject) ke - 3paddll Jelill = He walks home everyday.

3 e -1 =il Jeldll = | walk home everyday

| walk home everyday. (1% person singular subject
yday. (1%p ) ject > — 3=l Jeldl = They walk home everyday

They walk home everyday. (3" person plural subject)
Person, Number and Gender

Gender 'aa. ] &3—1
rd H

The 3" person singular form of personal pronouns can be o oS ¢ Al jilaall (e 03 e G jad ]l e

affected by gender as follows: oL L pinll g Sl

DS Y sl " he " SA reall]
Y ) el " she! Cuigall jaecall
" s Vs S ) i Y Al sl el — 3
Jia) Sl ol S8 Gud ass ) clea o @l g ) s
3. The neuter pronoun “it” refers to inanimate objects, or to a (" s e
person or animal not yet regarded as male or female (e.g.
“Who is it?”).

1. The masculine pronoun “he” refers to males.

2. The feminine pronoun “she” refers to females.

alinll (g 8 R e g 28 Y15 5 G el
The distinction between male and female may affect our S i " L et Jani of oS ) (@ ke i llS)
choice of lexical items (words or phrases) that could fill a JRAPENY
“slot” in the structure of a clause. )

miucﬁ\f\ch‘)hﬁ_ucd.aj
man, headmaster, woman, actress

He is a good ----- o dba
e.g. 1. He is a good ----- . ¢dag) = 1 A& aa gall " &)l e S
Man and headmaster can fill the slot in example 1. (Al pae
e.g. She isa good -----. She is a good ----- . dhe
Woman and actress can fill the slot in example 2. (ALiaall 53l el ) o 2 JBall 8 e sall" E Il b s da (S
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Note 1: The suffix “-ess” is found in a number of words
referring to women, but there are other words referring to
women that do not have this suffix.

e.g. aunt, niece, nun

Note 2: Most nouns in English can refer to both male and
female.

e.g. friend, neighbor, cousin, teacher, nurse

s OLlSl e dae 2 25 "ess" a2l -1 Adaadle
L g Y slpall ) i o Al clalS ellia (K1 el all
43U p2a

aunt, niece, nun : Jis

an e 45l Dl el alina 505 o)f Sy 12 Adaadle
LY Sl o s

friend, neighbor, cousin, teacher, nurse : Jis

1* Person

2" Person
masculine

3 Person o
feminine
neuter

| we
you you
he they
she

it

Exercise

Choose the appropriate pronoun:

1. 1* person plural pronoun

a. he b.we c.they d.you

2.3 person singular masculine pronoun
a.they b.it c.you d.he

3.2™ person singular pronoun

a.you b.l c.we d.she

(Al

sliall jraall i3

eeall en —J5Y) il 1

a.he b.we c.they d.you
Sl 3 jhall e — BN addll 2
a.they b.it c.you d.he
hall e — AU padal 3

a.you b.l c.we d.she

T3 'reed
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- What is a clause?

18

A complete sentence needs at least one finite, independent clause.
A simple sentence is composed of only one finite clause, so that

the structure of a finite clause is identical with that of a simple

sentence.

Here are some examples of one-clause sentences:
1. I have just telephoned Mohammed.

2. He was my best friend.

3. This is his photograph.

4. At nine o’clock, we all gathered in the classroom.
5. He always does his work perfectly.

Each of these one-clause sentences has a subject and a predicate.

The predicate is what is said about the subject.

If either of those two parts, subject or predicate, were missing, the

sentence would not be complete.

However, in an imperative, the subject is usually unstated.

e.g. Go study.

When the subject is missing, we assume that it is “you”, the
person or persons spoken to. The previous sentence can be

expanded as follows:
You go study.

The subject of a clause is a noun phrase. The predicate is a verb

phrase.

Every finite clause has the following basic structure:

NP (subject)+ VP (predicate)
The man bought a new car.

T3 'reed

Lecture -

. UaTung  Badma J3Y e Buxlg Byl I CLL‘:Q ks s

%‘hﬁs;ms»bsjgm%ﬁaw%éi
L abcud) Alased) GG Aliles Bouzs Byle cuSyS

s B lodl ByLeadl Jooed Aliaf Lin
1. | have just telephoned Mohammed.
2. He was my best friend.
3. This is his photograph.
4. At nine o’clock, we all gathered in the classroom.
5. He always does his work perfectly.

s g (4] s ) Sl Led Buslg Blie Jozr oda (10 JS
Jelad s e J b ga il
LIS ( Jeladl ) aed) wid! i il opaedl o cre 1 13)
cAolS (eSS Y Alesdl ¢ (pogdda
cBale JS0 Y Jeladl ¢ ¥ Ade G 23 aag
Go study : Jtis

il ga yakddl 09K Of aids o ¢ sgdae Jelall (S Laie |

Aozl Glhas L] ()S.e:yj - S ] R ESA
¢ JUdl gzl e Ayl
You go study

(Aedad alen) widly < (Homel Alez) Joladl 35Leadl &

¢ JU bl Lol L Bouzma Bylee S
NP (subject)+ VP (predicate)
The man bought a new car.: Jts
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~ The Verb Phrase Adaall 2londl
Verb Phrase (VP)

. baas 5 oo Lilesl 985 (vp) Aclasll dlese!
The verb phrase (\VVP) consists sometimes of a finite verb only. A0 Eol SRR R )

e.g. We all waited. Weall waited :_Jt
More often, the VP consists of a group of words (verbal group) dad ae Sl degama oo 0385 Acdaddl Aezdl Gl (0 23S
with a finite verb as its head. . bl J2aS susme

For a clause to be finite, there must be a finite verb in it. . b sotme Jad llin rSs of ¥ ¢ Bame (16 & Bal

The verb can be either :

1. Simple t Lol 0985 of (oSey Jaall

A simple verb consists of one word. Lo -1

e.g. is, was, walked, sat, did L Bualg Al (e 5SS Jauddl Jadll

2. Complex is, was, walked, sat, did: Jis

A complex verb consists of a verbal group. dixa -2

e.g. LS de sana (pa (9 6S daal) Jaall

have telephoned, were placed, were waiting, did not like, s Jie

could see have telephoned, were placed, were waiting, did not

, could see like

Finite vs. Non-finite Verbs : Badzme yilly - sadxll Jlastl
. : Bauzll Jlasyl
. Finite Verbs ;
' Finite verbs show tense, person and number. ; (ol s padddl o Gasll} o suadf Jaddl
- The verb “be” in the following sentences is an example of a ~ ( finite verb) sax=t! Jasll Jls ga 2 Lozl & “be” Jaalt
t finite verb. '

! He is here. They are here. (person and number)

i He is here today. He was here yesterday. (tense) He is here. They are here. (person and number)

(ta.y-s.\.,é.a)p.aa.\.c+gal."=.«f’uil.i.lai.4.3 are+is >» Lia o — Lo ga |
He is here today. He was here yesterday. (tense)
Jaall ey W g Was £ 1S >> uaily Lia S — agull Lia 58

(saadl . pazddl) cus are + is adldl alesl!

--Finite verbs can have three forms:

1. The base form (simple form) of the verb
e.g. walk, talk, drink, speak

2. 3" person singular form of the verb

e.g. walks, talks, drinks, speaks

3. The simple past form of the verb ) o
e.g. walked, talked, drank, spoke il @ Sl A RS =
walked, talked, drank, spoke

tame 3Lt 068 o (Sa Bauzll Jlad¥l --
- Jaadl o (Jarudd! Bae ) guba¥l aall -1
walk, talk, drink, speak
- Jaddl e 3yall colad! e dage -2
walks, talks, drinks, speaks

Exercise e
What is the form of the finite verb in each sentence?

a. base form b. 3™ person singular form c. past form 1) c.pastform

1. The manager talked to the employees. 2) b. 3™ person singular form
2. He drinks coffee every morning. 3) a.baseform

3. Ahmed and Khaled usually study together. 4) c. pastform

4. | went to the mall yesterday. 5) b. 3" person singular form

5. At eight o’clock every morning, my father goes to work.




Non-finite verbs - Bazma il Jlasyl

Non-finite verbs do not show tense, person and number. Caaadl pasddl ol ) cre Y sume gl Jasll
The verb “come” in the following sentences is an soma il Jaall JUis ga AW Jodl § “COME” Jasll
example of a non-finite verb. ﬁ (non-finite verb)

- Jls
e.g. _
| expect him to come soon. We expect them to come soon. - | expect him to come soon. We expect them to come soon.
(person and number) : (person and number)

(1) eadl a3 e Wds Lo« 5yde paded Eusmill Jo¥ ezl

(WE) yraall clld e Lo L« s oelieal ndamill sl ‘33

(pezeapie) pasde + poledl W crn of COME Jasll SI>>
((modly « 31,8%1 § Jadll 3940 piss o)

He is coming now. He was coming at the same time

yesterday. (tense)
(NOW) gt ells e Wlals ¢ pusladl § do¥1 dlezet!

(vesterday) ells e Whsks . @l § Al dloz!l
¢ Jadll gy W oas o COMING Jaall (ST >>
(ol polall § Jadll 5 540 pais o)

He is coming now. He was coming at the same time
yesterday. (tense)

--Non-finite verbs can have three forms: Z e 3Lt 0eS0 O (Ses Baume pddl Jladtl -
1. The infinitive f sl | Lo -1
The infinitive has the same form as the base. Itis Often .yl (Lol o 428 & ey Sl Rl Biall ks L ppopal ) Liiall

preceded by an infinitive marker “to”.
In some cases (e.g. after modal auxiliary verbs) the
infinitive is bare (without “t0”). For example:

.07 el dage
S juall Lo (Bucbud! Jlad¥l aay JULI Jetws (o) ¥l jany &

I am waiting for him to come. (Infinitive with “t0”) L5107 G5 0 0985)
He can come tomorrow. (Bare Infinitive) I am waiting for him to come. (Infinitive with “t0”)
Non-finite verbs “10” ae yuall>>

He can come tomorrow. (Bare Infinitive)
“to” 034-3 )Ml‘ >>

( -ing participle) Layi sews . Jelall gl -2
(el gl ) oy Aigall alie Jaill agdy (Jaill ing 4Ll ‘_5i >>
walking, talking, drinking, speaking : Jus

2. Present Participle (also called —ing participle)
e.g. walking, talking, drinking, speaking

3. Past Participle (also called —ed participle) o o
e.g. walked, talked, drunk, spoken (-ed par‘haple) Lyl (aaung e Jgadll el — 3

(Jj—\-ﬂl‘ M‘)M3M| ?L&n?}&ig Jaall cJiE ui.;ﬁa.‘i.” L.Si>>
walked, talked, drunk, spoken : Ju,
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Exercise

Decide whether the underlined verbs are:

a. finiteb. non-finite

1. He was able to walk after physical therapy.

2. He is making a chair out of wood.

3. He made a chair yesterday in his workshop.

4. You should spend more time studying.

5. They spend time together every Thursday morning.

£
2

1) b. non-finite
2) a.non-finite
3) a.finite
4) anon- finite
ozl posall pdiy Jadll pds ¥+ grisan Jadll oo
(3o e ) Jadll wai Uil << (Mia Theys he LiJ..\.,.LabJ‘_;i)
5) a. finite
3piall paiall pdty Jaddl pin + Jarus gyliae Jadll dauo
(3o ) Jaall aas Uit << (Mie ey They Wil of ‘_51)

' Finite vs. Non-finite Clauses
A finite clause is a clause which has a finite verb.
e.g. He is waiting for the headmaster to come.

The previous above example has a finite verbal group,
“is waiting”.

A non-finite clause is a clause which does not have a finite
verb.

In the previous example “for the headmaster to come” has a
non-finite verb “to come”, but does not have a finite verb.

At least one clause in an English sentence must be finite.
Simple sentences consist of one finite clause.

e.g. He is a student.

Compound and complex sentences consist of two or more
clauses with at least one finite clause.

e.g. He is waiting for the headmaster to come.

T3 'reed

Badzma pidlg . Bauzll oyl
Csdzme Jad LI 1 Byleall ( Bazell 3yleall
He is waiting for the headmaster to come : Jts

“Is Walting” sauses aulad degama dags GLudl JULI &

Codome Jad Lt ed A1 B5Leadl (2 Boume padl 8Ll
suzme pé Jad 4yut “for the headmaster to come” & Ludl JULI 3
L adzme Jad dad e Sdg - “t0 COMeE”

CBadme 0985 O e HplasY! Alendl § Busly Bylee J3Y1 e

. Badsma g Bylee (o 0985 Aacud! Jaze |

He is a student : Jtw

Blee g clleall oy AST ol ot (oo 098 Budally LSkl Jol!
. Badsme Y e Busls

He is waiting for the headmaster to come: Jtis
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Lecture ( 5 )
deso| 1 § oLl

Verbal Groups (( &lzdll de senadll ))

Verbal groups can be of five types:

Type 1 Modal +Infinitive: could see, will come

Type 2 Have +Past Participle: have telephoned, has begun
Type 3 BE +Present Participle: are coming, were waiting
Type 4 BE +Past Participle: is grown, was broken

Type 5 DO +Infinitive: did not like, Did you know?

The first four types can be combined with one another to form
more complex verbal groups like:

Ahmed will have finished that book by Friday. (Type 1 & 2)

He has been learning English for four years. (Type 2 & 3)

He will have been learning English for five years by next
October. (Typel,2 & 3)

The president could be seen by everyone. (Types 1 & 4)

He is being called now. (Type 3 & 4)

All such groups are formed in the order 1, 2, 3, 4, as follows:

1 2 3 4
Modal + (Have +Past Participle) +(Be +Present Participle) +(Be
+Past Participle)

Note 1: The meaning of the verbal group is contained in the last
word.

e.g. He has been learning English for four years.

Note 2: Only the first word of a verbal group is affected by
person, number and tense. The first word is what makes the
group finite.

e.g.

He has been learning English for four years.

| have been learning English for four years.

They have been learning English for four years.

T3 'reed

Il o (0 (955 lad) i gomald oSy |

could see, will come : juall + el Joidl 1 J g3 540

have telephoned, has begun : Js.ill i + Have : S g5l i
are coming, were waiting : jeWwl s+ BE : Sl gou) |

is grown, was broken : Jgaill sl BE @ ol JI ggill
did not like, Did you know? : ,s.ali + DO : juslsdl gl

i is) A legamo 6353 il Ly o gl AT Uyl s gl oSy

D e
( [&[gg41) << Ahmed will have finished that book by Friday

( & [g441) << He has been learning English for four years

He will have been learning English for five years by next
October

(L& (&) <<
( L& [ §s01) <<The president could be seen by everyone
( [&[§s41) << He is being called now
U gl e Ll Ll L Ll by wole gornall 030 aor US55
U | W W
+ Be) + (Jel pl + Be) + (Igaill puol + HaVE) + a2l Jail)
(Jgaid) pusl
- Aols (3T 3 aladd) e gonall fino 9y LBl
He has been learning English for four years : Jts
ol (i ) U5 dlaid) de gonall o Jg¥1 AalSUl bad ;[ s
Boama o Jazd Lo (& Jg¥1 AU ¢ 0o lg sl
A
He has been learning English for four years.

I have been learning English for four years.
They have been learning English for four years.
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Exercise

Choose the correct order for each verbal group:

1. a. have seen could b. could seen have

c. could have seen d. seen could have

a. have should been doing b. doing should have been
c. have been should doing d. should have been doing
a. has been studying b. studying has been
c. been studying has d. studying been has

: led e gana JSJ pumal) i 1 s
c. could have seen -1
d. should have been doing-2
a. has been studying - 3

T3 'reed
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Verbal Group Types ((&lsdll de saxall ¢ 5l ))

ol + seludl ) 2 JoNI gl

0700 gl Syl 3 Ll 35 Baslead) S gy 530 gulol) il |
* The main verb which follows a modal auxiliary will always | can see, could see : Jt i
be in the bare infinitive (without “to”). '
e.g. can see, could see

Type 1 Modal +Infinitive

saadly pasadl (e ) S5 Y suelad) JLSYI

* Modals are not affected by person and number. He must know how to speak English. : Jts
e.g. He must know how to speak English. | They must know how to speak English.
They must know how to speak English. |  same el ads 1405 el cole gamall S

¢ All verbal groups beginning with a modal are finite.

Jaado ?..al‘i' Have : Ul @:.Ju

Type 2 Have +Past Participle el i 3 “HAVE” 51 S0 5o o il i

This type is an expression of the perfect aspect. “Have” is o3l ¢ saall ¢ pasal) Wy 985 o il sase “have” selull i)
used as a helping verb (auxiliary verb). The helping verb | . Ul
“have” is finite and changes according to person, number

and tense. For example: sl ¢ ,Lall o3 He has read the book already.

He has read the book already. (present perfect tense) ] sl ¢,Lall ey We have read the book already

We have read the book already. (present perfecttense) - The students had already gathered in class when the
The students had already gathered in class when the { teacher entered

teacher entered. (past perfect tense) | 21 5Ll 0o

s 'p...ol + BE . ci @JJ!

o delus JaiS pasing ‘B il JSEI e pua g3l 13n

Type 3 BE +Present Participle

This type is an expression of the progressive aspect. “Be” is 1 . e m
used as a helping verb (auxiliary verb). The helping verb { L0031 ¢ sl ¢ pad il By 0955 gl s “BE” seludl udl
“be” is finite and changes according to person, number and : Jbo

ten'se. For.example: . 50 g0 He iis coming,
He is coming. (present progressive)

They are coming. (present progressive) | s ¢,L50 They are coming.
He was waiting. (past progressive) | sadws ¢ ,Lae He was waiting.

They were waiting. (past progressive) s ¢ 2 They were waitin
M ) g-

Type 4 BE +Past Participle Jgnill psl + BE : a1 J1 g5
This type produces the passive voice (in contrast with the 3 (rdtighedhe <o) dhosed il gy il D
active voice). | : pslaall Sull Jadll e Jlis

The verb is active in this example: | Ahmed broke the window

Ahmed broke the window. (active voice) | : Jsgmal il Jaidl le Jtio

The verb is passive in this example:

The window was broken. (passive voice) The window was broken
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Exercise SN
Decide whether the type of the verbal group in each sentence e JS 3 dladd) Aol £ 95 oa>
is: )

a. Type 1 (modal +infinitive) b. Type 2 (have +past participle)

c. Type 3 (be +present participle) d. Type 4 (be +past participle)
d. Type 4 (be +past participle) -1

1. The machine was fixed. a. Type 1 (modal +infinitive) -2
2. He can fix any machine. c. Type 3 (be +present participle)-3
3. He is fixing the machine. b. Type 2 (have +past participle)-4

4. He has fixed the machine.
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Type 5 DO +Infinitive

In this type, the helping verb “do” is called an operator. We
call it an operator because it helps in a number of
operations performed on the verb phrase (VP).

Some of these operations are:

Operation 1: Negative

To form the negative, we put “not” immediately after the
operator.

e.g. He does not want it. They did not come here.

Operation 2: Interrogative (question)
The interrogative is formed by placing the operator before

the subject and leaving the rest of the sentence unchanged.

e.g.
They come here.
Do they come here? (interrogative)

Operation 3: Tag question
He did his homework, didn’t he?
They don’t come here, do they?

T3 'reed

wall + do : el f’qﬁ‘

o 55 . OPEFALOF owy “d0” selull Jadll ¢ 43l 130 3
8yl e o5 23 I laall 0o e § asly Y an operator
. (VP) Lait
DB Slhdaadl 038 o Gaay
i s
(d0) sx; s OPErator ua § 5k “NOY” o pave il Jusias)

He does not want it. They did not come here: Ji,
(I3l ) plgdtiood) : [Hslas
Gy 59 « Jel) 46 (dO) 51 OPErator nog pladin ¥ Jisis piy
S (99 Aol

They come here.
1 (They) yew! 1 (doy Laal >> Do they come here?

( Hrgolgiios) ) cimgusd 131
oSl 1 : Dl
- Jbe

He did his homework, didn’t he?
They don’t come here, do they?

Sl I3l o 9 guail) AN 10 pul g wiiie] >>
(¢ W3S pull )) LIgaS Uandl 5T 09558 b salgitiol 8l oo
Jel) a0 auly + dO oo S
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Operators
Operators j Operators
In addition to “do, does and did”, operators also include: ﬁ 2 L,a.d Joisy Operators “do, does and did” JJ &LsYL

1. The modal auxiliaries (can, could, may, might.. etc) . .
((can, could, may, might.. etc)) suclud! I —[]

e.g.
Operation 1: He could not come. : s Jbs

Operation 2: Could he come? ; He could not come.: il
Operation 3. He couldn’t come, could he? Operation 2: Could he come?; [

- - He couldn’t come, could he? : [ s
2. “have”, “has”, “had” as helping verbs (and sometimes as ! )

main verbs in British English ). el LS gl Yl Gany ) Buslus JLSLs “have”, “has”, “had” -2
The following are examples of “have” as a helping verb : (Al ) ¥ ) 3
operator: Z sslus Job Operator _s “have” il L,

Operation 1: They have not come yet.
Operation 2: Have they come already?
Operation 3: They haven’t come yet, have they?

They have not come yet: [ i
Have they come already?: i

This is an example of “have” as a main verb operator in British They haven’t come yet, have they? : [ i
English: il )y palao¥) A1 3 bl Jab ODEFAtOF s “have” dtisl sia
Operation 2: Have you any money? (British English) :

( Sl s3>0 ) Have you any money?

Compare:

Do you have any money? (American English) e

( “_.;.“,ﬂi $34>3 ) Do you have any money?

3. “am”, “is”, “are”, “was”, “were” as main verbs and as Saslus JLSLS g Ll JL3ls “am”, “is”, “are”, “was”, “were”
auxiliary verbs. bl o operator s “is” il L Lody

The following are examples of “is” as a main verb operator:

He is not here : [HJs
Is he here : [

Operation 1: He is not here.
Operation 2: Is he here.

Operation 3: He is here, isn’t he? He s here, isn’t he? . [ &
The following are examples of “is” as a helping verb operator: aslus J2d Operator s “is” dtiol s lasdy

Operation 1: He is not coming. He is not coming : [

Operation 2: Is he coming?
P & Is he coming? : [Hie

Operation 3: He is not coming, is he?
He is not coming, is he? : [
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Exercise

Decide whether the underlined verb is:

a. a main verb operator b. a helping verb operator
c. not an operator

1. They do not come here often.

2. | have not seen this movie yet.

3. Do you have a copy of the movie.

4. He is not here.

5. He isn’t going, is he?

b. a helping verb operator -1
b. a helping verb operator -2
c. not an operator -3
a. a main verb operator -4
b. a helping verb operator -5
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Lecture ( 6 )
dwslw! § gl

Form and Function

(( &bylly Jsadly)

E Form and Function Zagbglly sl
i Form is what the word/phrase/clause look like. > )
: e.g. noun, verb, noun phrase, verb phrase, relative clause. s (3,Lall — Rl S5 Lo g9 g2
Jpoll Jaz ¢ tlad Jox ¢ gl Jax ¢ Jab ¢ g
: Function is the “job” of the word/phrase/clause in a sentence . ¢ Alaadl 3 (5l —AaSII ) Jos oo il

e.g. Subject, Verb (Predicator), Direct Object, Complement . . ) . .
! oSS o pinlao dg Jgaio o (o ) Jad el

Exercise PPNV
Choose by d] e oS 13) (@) 3 JSE d) i pllaall ols 13) (1) s

(a) if the given term refers to a form and
(b) if it refers to a function.

a. form------- b. function 1. a.form
1. pronominal group 2. b. function
2. indirect object 3. b. function
3. complement 4. b. function
4. subject 5. a.form

5. noun phrase
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Function of the Noun Phrase (NP) (( ¥l daadi § Ll ))

1. Subject of a Clause 5ylall B Jsld -1 |

As we mentioned in Lecture 4, a sentence needs a subject in order to be ALlS 05 - Yo o) Il L5 ilnall GIEDES
complete (except for imperative sentences where the subject is (99390 e sy el J.{Sl o s Ld5uly ) !

tated). o i
unstated)  Jls |
The old man is here

2. Direct Object of a Verb J-"-m g’ ( r"w‘ ) L LJ}"-“"'” -2

( Monotransitive )l JL¥I << a J gaio il Saaill Joidl |

e.g. The old man is here.

Transitive verbs require an object. Monotransitive verbs take only one
direct object. b asly il 4o Jgaie 1505 |

e.g- Ahmed finished his work Ahmed finished his work : JUs |

(C: oo ) sbandy « J¥1 5 poloall 3 omill Jodd) Aol yo 3 us3ill )

V' Uil ) Monotransitive . bis usly 4 Jgaie oallis 301 JWNI o (

v’ JLsi)Ditransitive . 4 Jyais (Ll 3 JWdYI L : (

3. Indirect Object of a Verb J=dll 99( shla i) & Joniall -37

( ditransitive )JI JLdYI sowd ¢ 4y Jgmio [ Ll dpansl] JdYI oy |

Some transitive verbs require two objects. These are called ditransitive

verbs. They take a direct object and an indirect object. Sl b ,.&73 ¢ yile 4o Jgaio sl
e.g. - He gave Khaled a book. s Jo |
He gave Khaled a book. (WS LS _,J”i )

(... gave a book to Khaled)
The shopkeeper sold him some snacks.
(... sold some snacks to him)

- The shopkeeper sold him some snacks.

(4 Ligis)) i)l Gamg s ... )

4. The Complement of the Subject +BE (is, am, are, was, were) BE (is, am, are, was, were)+ J.slﬁl A -4
A complement is a word/phrase/clause that completes the meaning of S B ke ¢ Ao ¢ LS Sas JuSS gf"'” ke ¢ dox ¢ dols & sl
another word/phrase/clause. It is necessary for the meaning to be ) 34_,5 Sall 535 S 590 32
complete. . . N
Ahmed is my best friend : JUs |
Note: When the complement is a noun, it must agree with the subject in ¢ saall 9’ Je ) 2o 34D ‘3‘ o F"“" LS 5955 lasis: dasdlo
number and gender. - ol &y i
Ahmed is their uncle. (not “uncles” or “aunt”) (“uncles” or “aunt” ) Jgi> ¥ << Ahmed is their uncle. : Jts |
Sarah and Huda are their aunts. (not “aunt” or “uncles”)

e.g. Ahmed is my best friend.

i “I s»n . . ‘ ;,‘|. o i ” ‘ .‘
The full verb “BE” in this example only serves to join the subject and the o 122 GRS )5 o SEINED 3 BE” Jolstl Juid

complement together. by g2 o =) byl J) Jaidl” COpula” sows “BE” Jols jaidl (sl sia 3
In this case, the full verb BE is called a Copula (=something that joins e 5ol ARG 5,5 7yl JW copulas dbs (L Y
things together). There are other copulas in English, for example, the

verbs “become” and “seem”. Vg S€em” 3 "ol become” JLdYl (JBL Jusw
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5. The Complement of the Object

e.g. He found Faisal a good student.

In the previous example, the noun phrase “a good student” is the

complement of the direct object “Faisal”.

Compare the examples in (a) and (b) below:

a. The teacher found Faisal a book.

The teacher found a book for Faisal.

b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

In example (a), “Faisal” an indirect object and “a book” is a direct
object. The sentence means that the teacher looked for a book to give

to Faisal.

In example (b), “Faisal” is a direct object and “a good student” is a
complement. The sentence means that the teacher thinks that Faisal is |

a good student.

© Jonidl eSS -5
He found Faisal a good student : Jt.,
Usss 9o “@ good student” Lol dasd) Ll JELI 3
. “Faisal” sl a4 Jgaioll
: (b 5 (@) g sl 8941 ll Uied o,

a. The teacher found Faisal a book.

The teacher found a book for Faisal.

b. The teacher found Faisal a good student.
The teacher found Faisal to be a good student.

4 Jgaio “@book”y ¢ yilue b 4y Jgaie “Faisal” (@) JUII 3
.Mﬁo;wyybﬁ|y&a#|£ﬁbgi@ﬁwl .ol

. 4S5 “a good student”s « L 4s Jgais “Faisal” (b) JGII 3

s Al Joad ol siiay plal) ol s Aol

6. Object of a Preposition

n u

Prepositions are words like “in”,

normally followed by a noun phrase. The noun phrase that follows a

preposition is called the object of the preposition.

on”, “of” and “off” which are

G 4 Jamill 6

- Aag Bale w8 15 “Off” 5,“0f” (“On” “in” o oS & 2l By >

,ﬁﬂdjﬂ@J}aﬁoMﬂiJ}ﬁgﬁéﬂ%?‘M|.a-;wl

t JBs
e.g.
We are in the same class - We are in the same class.
He walked on a high platform. il w?lked on a high platform.
In the two examples above, the noun phrases ol Joadl ¢ il UL 3
“the same class” and “a high platform” function as the objects of the “a high platform” s “the same class”
prepositions “in” and “on” respectively. . J1el e “on” 5 “in" 2l (99 ) 4 Jgaills Jeasi
7. Appositive to another Noun Phrase 6)"'1 3.3“‘ FTPes d.:.«." -7

An appositive is a noun phrase (NP) that describes the same person or

thing as another noun phrase (NP) that came before it.
e.g. Your friend Ahmed Al-Ali is here.

In the previous example, “Ahmed Al-Ali” is an appositive. It is in
apposition to the noun phrase “your friend”. Both NPs “your friend”

and “Ahmed Al-Ali” describe the same person.

We will talk more about apposition, including apposition types, in the

next lecture.

T3 'reed

sl ddonrS ald Sl S o ) g il s Ll gl Lo 52 Jodl

s

ey
Your friend Ahmed Al-Ali is here : JGs

Gow ¥l Aol Juy 948 . Judl 98 “Ahmed Al-Ali” 5Ll JEII 3
“your friend” s “Ahmed Al-Ali” ;5lesdl MS¢ “your friend”

 Aooli) 8 palmall 3 ¢ Judl 1950 I3 3 Loy ¢ Judl oo 38T ramiies 20
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Exercise

Choose the correct function for the underlined NPs:

. Subject b. Object c. Complement d. Appositive
. His father gave him some important advice.

. Ahmed’s uncle lives in Riyadh.

. Ahmed'’s uncle is a successful businessman.

. Khaled has a lot of books in his room.

. The teacher gave the students exercises.

. My brother Saleh studies at King Faisal University.

. The manager found him a hard working employee.

NOoOuUubsWNRERY

:bwgn@%uwwlwylpu

1. b. Object

2. a. Subject

3. c. Complement
4. b. Object

5. b. Object

6. d. Appositive
7. c. Complement
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